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WDGZ[QJMVUQK \ODGGFGOG� ]Z[M^U_EQKS� -77=� ������� �� !��"��#$ %!�&" '(� �� )*�+�

 !�� ,-�%!.!%(/$ �* 0+�� �(" ,%!�(�&�*(" ��( ��$ ,!(�(-!�!%.1�� `[Q_X^[KLJD; `LDa$

aZXFD WQMKLEb�

]MD JLJMVUDMD ^PcKJRS.JLGcEKUVS� KQ JLGcEKURM^S ZPYEbdKLG MD ZGcQDY^EKGMb MKLS

aQD cQbYKEZS PDMRaKEFZS aZaKGIMOG PDQ JMR JLG^eZQD ZGRUZEfGKGMDQ D[I MK JgJMRUD UI$

XQS cRUKJQZgKGMDQ aZaKGIMD [KL MDQEQbdKLG JMD ZGcQDY^EKGMb MKLS� NDhfS K IaPKS MRS

[XREKYKEFDS [KL [DEbaZMDQ DLibGZMDQ EDacDFD� [EKMZFGKLUZ MRG Z[^PMDJR MOG JLJMRUbMOG

^PcKJRS.JLGcEKUVS UZ ^GD UReDGQJUI cQbMDiRS� ^MJQ fJMZ UIGK MD [QK ZGcQDY^EKGMD aZaK$

GIMD GD [DEDcFcKGMDQ JMKLS eEVJMZS� jQD GD cQDMbiKLUZ MD aZaKGIMD� Z[QME^[KLUZ JMKLS

eEVJMZS GD KEFdKLG [EKMQUVJZQS DGbUZJD JMD ZGcQDY^EKGMb MKLS� ]LGc^KLUZ PbhZ aZaKGIS

UZ ^GD eEIGK XViRS ^MJQ fJMZ [KXg ZGcQDY^EKGMD aZaKGIMD GD URG D[KPXZFKLG GZIMZED D[I

MK GD [DEDcFcKGMDQ JMKLS eEVJMZS� jQD GD DLiVJKLUZ [ZEDQM^EO MRG QPDGK[KFRJR MOG eER$

JMfG� [EKMZFGKLUZ MRG DgiRJR MRS [KQPQXKUKEYFDS MOG aZaKGIMOG [KL [DEDcFcKGMDQ� jQD

GD aFGZQ DLMI� Z[QX^aKLUZ MD aZaKGIMD [KL hD [DEDcKhKgG XDU_bGKGMDS L[IkR IeQ UIGK

MRG Je^JR MKLS UZ MD ZGcQDY^EKGMD MOG eERJMfG DXXb PDQ MRG UZMDig MKLS KUKQIMRMD�

WQK DGDXLMQPb� JMD [DEDcKJQDPb JLJMVUDMD ^PcKJRS.JLGcEKUVS� IXZS KQ JLGcEKU^S

MOG eERJMfG hZOEKgGMDQ ZiFJKL JRUDGMQP^S� lLMV R L[IhZJR [ZEQKEFdZQ MQS Z[QXKa^S MKL

eEVJMR� jQD [DEbcZQaUD� DS L[Kh^JKLUZ ^GDG eEVJMR K K[KFKS ZGcQDY^EZMDQ aZGQPb aQD

cEDUDMQP^S MDQGFZS� WQK JLaPZPEQU^GD� DS L[Kh^JKLUZ IMQ ZGcQDY^EZMDQ [ZEQJJIMZEK aQD

cEDUDMQP^S MDQGFZS MKL �� '��
�	 D[I IMQ aQD cEDUDMQP^S MDQGFZS MKL &� &��������� ]MRG

[ZEF[MOJR DLMV� K eEVJMRS hD VhZXZ GD ZQcK[KQZFMDQ aQD cEDUDMQP^S MDQGFZS MKL &� &����$

���� UIGK JMRG [ZEF[MOJR [KL cZG L[bEeKLG DEPZM^S [XREKYKEFZS aQD cEDUDMQP^S MDQGFZS

MKL �� '��
�	� TD L[bEeKGMD JLJMVUDMD ^PcKJRS.JLGcEKUVS IUOS� cZG [DE^eKLG MR

cLGDMIMRMD ^PYEDJRS DLMVS MRS [EKMFURJRS�

]MRG ZEaDJFD DLMV� [EKMZFGKLUZ MR eEVJR Pb[KQKL ZFcKLS cQbMDiRS UZMDig MOG ZGcQDYZ$

EIGMOG MOG eERJMfG� ^MJQ fJMZ GD MKLS [DE^eZMDQ R cLGDMIMRMD GD ZPYEbJKLG MK aZaKGIS

[OS Pb[KQD ZGcQDY^EKGMDQ ZFGDQ [QK JRUDGMQPb D[I Pb[KQD bXXD� jQD GD cQDMbiKLUZ MD

ZGcQDY^EKGMD� eERJQUK[KQKgUZ [EKMQUVJZQS� HQbYKED UKGM^XD [EKMQUVJZOG ^eKLG [EK$

MDhZF JMK [DEZXhIG� TD [ZEQJJIMZED DPKXKLhKgG ZFMZ MRG [KJKMQPV� ZFMZ MRG [KQKMQPV

[EKJ^aaQJR� ]MRG [EfMR [ZEF[MOJR KQ eEVJMZS eERJQUK[KQKgG UDhRUDMQP^S JLGDEMVJZQS

[KL DGDh^MKLG ^GDG DEQhURMQPI _DhUI JZ PbhZ cZcKU^GK� ZGf JMR cZgMZER KQ [EKMQUVJZQS

���



UZMDig MOG cQbYKEOG cZcKU^GOG KEFdKGMDQ bUZJD UZ MR eEVJR cLDcQPfG Je^JZOG� jQD GD

ZPYEbJKLUZ [EKMQUVJZQS UZMDig JLGcEKUfG� [EfMD ZQJbaKLUZ MQS JLGcEKU^S [EKMFURJRS�

mQ JLGcEKU^S [EKMFURJRS U[KEKgG GD eERJQUK[KQRhKgG PDQ UZ MD cgK UKGM^XD [EKMQUVJZOG

UZ MK GD JLGc^KLG ^GDG _DhUI ZGcQDY^EKGMKS JZ PbhZ JLGcEKUV�

nDJQJU^GKQ JMQS JLGcEKU^S [EKMFURJRS� ZQJbaKLUZ UFD [DEDXXDaV MKL [EKMg[KL ^PcK$

JRS.JLGcEKUVS JMRG K[KFD KQ eEVJMZS XDU_bGKLG UIGK MD � [QK ZGcQDY^EKGMD aZaKGIMD

PDQ IeQ IXD IJD MDQEQbdKLG JMQS JLGcEKU^S MKLS� `iZMbJKLUZ ^GDG DEQhUI [KXQMQPfG eEK$

GQJUKg aQD MRG [DEbcKJR aZaKGIMOG; 9�: MRG [KXQMQPV JLGZeKgS EKVS� 9��: MRG [ZEQKcQPV

[KXQMQPV PDQ 9���: MRG [KXQMQPV PLXQIUZGKL [DEDhgEKL� ]MRG [KXQMQPV JLGZeKgS EKVS� MD

[QK ZGcQDY^EKGMD aZaKGIMD [EKOhKgGMDQ JMKLS eEVJMZS MR JMQaUV MRS ^PcKJVS MKLS� ]MRG

[ZEQKcQPV [KXQMQPV� MD [QK ZGcQDY^EKGMD aZaKGIMD [EKOhKgGMDQ DGb MDPMb eEKGQPb cQD$

JMVUDMD� ZGf JMRG [KXQMQPV PLXQIUZGKL [DEDhgEKL JLGcLbdKLUZ MQS cgK [EKRaKgUZGZS

[EKJZaaFJZQS UZ MK GD L[KXKaFdKLUZ PDQ GD [EKOhKgUZ MD [QK ZGcQDY^EKGMD aZaKGIMD ZGIS

PLXQIUZGKL [DEDhgEKL aZaKGIMOG UZ [EKPDhKEQJU^GK UVPKS�

TD [QK ZGcQDY^EKGMDQ aZaKGIMD aQD PbhZ eEVJMR JLeGb [DEKLJQbdKLG UZabXR KUKQI$

MRMD� mJMIJK� R DgiRJR MRS [KQPQXKUKEYFDS MOG aZaKGIMOG [KL [DEDcFcKGMDQ MZXQPb

JMKLS eEVJMZS DLibGZQ MRG QPDGK[KFRJV MKLS D[I MK JgJMRUD� jQD [DEbcZQaUD� K eEVJMRS

MKL [DEDcZFaUDMIS UDS hD VhZXZ GD XDU_bGZQ [XREKYKEFZS PLEFOS aQD cQDYKEZMQP^S cED$

UDMQP^S MDQGFZS MKL �� '��
�	 PDQ� UQD JMK MIJK� PDQ aQD Pb[KQZS cEDUDMQP^S MDQGFZS MKL

&� &��������� jQD MK XIaK DLMI� MEK[K[KQKgUZ MK UReDGQJUI L[KXKaQJUKg MOG � PDXgMZ$

EOG aZaKGIMOG ^MJQ fJMZ GD XDU_bGKLUZ L[IkR PDQ MRG [KQPQXKUKEYFD MKLS� ]Z DLMVG

MRG PDMZghLGJR� eERJQUK[KQKgUZ ^GD JLGcLDJUI MRS JRUDJFDS MKL PbhZ aZaKGIMKS aQD MKG

ZPbJMKMZ eEVJMR PDQ MRS KUKQIMRMbS MKL UZ bXXD JRUDGMQPb aZaKGIMD aQD DLMIG� `iZMb$

dKLUZ [OS U[KEKgUZ GD DLiVJKLUZ MRG [KQPQXKUKEYFD MOG aZaKGIMOG aQD PbhZ [KXQMQPV

eEKGQJUKg�

jQD MKG D[KcKMQPI ZGMK[QJUI MOG JLGcEKUfG [EKMFURJRS [KL MDQEQbdKLG UZ ^GD G^K

aZaKGIS� LQKhZMKgUZ UFD DGD[DEbJMDJR MOG JLGcEKUfG _DJQJU^GR JZ aEbYKLS� MRG K[KFD

PDXKgUZ aEbYK JLGcEKUfG [EKMFURJRS� PDQ MRG eERJQUK[KQKgUZ aQD MRG [EKfhRJR MOG

aZaKGIMOG [KL cRUKJQZgKGMDQ JMKLS eEVJMZS�

oXK[KQVJDUZ ^GD [EIML[K JgJMRUD� MK K[KFK KGKUbdKLUZ ����&��(>� MK K[KFK Z[ZPMZF$

GZQ MK JgJMRUD &��(>� ^GD cRUKYQX^S JgJMRUD ^PcKJRS.JLGcEKUVS� UZ MRG ZGJOUbMOJR

JLGcEKUfG [EKMFURJRS� [KXQMQPfG eEKGQJUKg PDQ DgiRJR [KQPQXKUKEYFDS MOG aZaKGIMOG

UZ JPK[I MKG ZGMK[QJUI MOG � [QK JRUDGMQPfG aZaKGIMOG aQD PbhZ eEVJMR PDQ MRG [DEb$

cKJV MKLS JZ DLMIG� WDEKLJQbdKLUZ ^GDG DEQhUI [ZQEDUDMQPfG D[KMZXZJUbMOG JeZMQPb UZ

MKG DEQhUI PDQ MRG [KQIMRMD MOG aZaKGIMOG [KL [DEDcFcKGMDQ JMKLS eEVJMZS D[I MK ����$

&��(> JZ JgaPEQJR UZ MK JgJMRUD &��(>� PDhfS PDQ MK Z[Q[X^KG PIJMKS [KL D[DQMZFMDQ

aQD MRG cQbMDiR MOG aZaKGIMOG�
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���


+����� -�-; ���	
 �	
 ��������
��	 �#�������

�
������ ������ 2��� �	���
�/�����. �� 
������ 
�� ���������
� ���	
� 
� ���$

��������� 
�� ���	
$	�
����
��	 ������� ��� 
� �
�	
��� ��� �	
����
�	� �	�����
��	 ��� ����

����� �� 
� 
���� 
�� 83��� 9�

��3� �� ���
� �	
��
������ �� ��	 ��� 
��
 � ��������
��	 �

�3���� �	 ���	
 �� �� ��
��	�
����� � 6
����� �� �� �	
 �	�� ��� ����� �

����
� ��	�
���	


�� � �� ��
����
 �� ���� �

����
� �� �� +�������;

!�0������ �1� 91���� 2���
��	:1 ����	 �	 ���	
 � �� 
�� ���� {�1� � � � � ��} �	
 � ���$
�����
��	 � �� 
�� ���� {�1� � � � � ��}� � ������ �� �� �	
 �	�� ��� ∀ �� ∈ �� ∃ �� ∈ �� ���� 
��
�

����	
� = ����	
�� ������� = ������� �	
 ((���
����) ��� (���
����)) ���
�� 1 ≤ � ≤ 
�

1 ≤ � ≤ ��

>	 ���	
 � �� 
�������
 
� � ����� �� �	
 �	�� ��� 
�� ���� ��� �����

�
 �
 ����
 �	�

��������
��	 �� ���� 
��
� � ������ �� +�� �#������ 
�� ��������
��	 �� +����� -�-� ������


�� ���	
 �� +����� -�-� �	
 
��������� 
��� ���	
 �����
 �� 
�������
 
� ��� ����� ���

���� �����

�
 
��� ��������
��	�


�
 ������������ �������������

�� ����� ����� 
� �#����� 
�� ���
 
��
 ���� ���	
� ��� 63�� �623��
�� 
� 
��� 
��	

�
����� �� ������� �#
�	
�	� 
�� �������.��������� ����
��� 
� �	�������
� ��	��	��

!�� ���� �� ��� ���� ���������� 	�
 
� ������� ��� ��
���	� ���	
� ��
 �	�
��
� 
�� ���


�	
����
�	� �� 
���� ���� 
�� ���
 ������ ��	��
 �	��� �� ������� 
���� �� ����� �����


� �#����� �������	��� 
������ 2���������

 �������2��3��� �������	
��� ��������
��	� ���

��������
��	� �	��	��
 ��
� 
������ �� �	
����
� �����
 2��������� �
�:��

!�0������ �1� 9�������	
��� &�������
��	:1 > �������	
��� ��������
��	 
��� �� ���� � ��

� ���� �� 
�� ���� 
��� = (��� 
�������
�
� )� ����� �� �� � ��������
��	 �	
 
��������� �� �

���� 	����� �	 [0� 1] 
��
 �#������� 
�� 
����� �� �	
����
 �� � ��� ���

��� ������ 
�� �������	�� ��	�� 
�� ���� �	
����
�
 
�� ���� �� �	 ���	
� ������
 ��


�� �������
 ��������
��	� �#������ �� �������	
��� ��������
��	� ��� ����	 �	 +����� -�/�

�	 ��	����� �������	��� ��	 �� �#������
 �������	� ��
��� � A��	
�
�
��� �� � A����
�
���

��������� +������	� � 7�
����
���� �������	�� ��
��� ����� �#�����
�� �����
� 	������

������� ���� ������ ��
��	 
�� ��	�� [0� 1]� 
� �	
���
� 
�� �����
�	�� �� ���� �� 
����

��������
��	�� �	 
��� ����� 
�� �������	�� ��	� 
��
 �� �������
�
 ��
� � ��������
��	 ��


�� ����� �����
�
 ��� �
 �� 
�� �����

0
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��� ��������
��	 �#�������

+������	� � 7�

��
���� ��
��� ����� ������ ��	��� ����
��	� 
� 
��	� ������
��� ���	�


���� ��������
��	�� &����������� ������ 
��
 � ���� � �����
�� � ��
 �� �������	
���

��������
��	� �� �	
 
��
 
���� �������	
��� ��������
��	� ��	
��	 
�� ��
 �� ��������
��	�

��
� � �� �#����� �������	��� ��
���	 ��������
��	�� � 
��	�� 2��3���� �3�5���3�� �� 
��

���� 9�� � ��:� ��� �� ∈ ��
� � 
� 
�	�
� 
��
 �� �� ��������
 
� �� 9���� +����� -�6:� )�
 �

�

�� 
�� ��
 �� ������
� ��	
�
��	� �#������
 �� ���� �� ���� �� = {(�� � ��) | ��� �� ∈ ��
� }�

�� �#
���
 
�� ���
 ���������� ��������
��	� ����
 �	 �� � �� ��� 
�� ��		�� �����
��

q,7r� ��� ���
 �������
��	 �� 
�� ��		�� �����
�� ��
��	� 
�� ��
 ����(1) �� ��������
��	�

�� ∈ ��
� � ���� 
��
� ∀�� ∈ ����(1) 
���� �� 	� �� ∈ ��

� ��
� �� � ��� �� ��
����� 
��

���
 ���������� ��������
��	� ��
�� 
�� �	�� �	���
�
 �	 ����(1)� �� ����� 
�� ��		��

�����
�� � ����	
 
���� ����(2) ��	���
� �� 
�� ��������
��	� �� ∈ (��
� −����(1))� ����


��
� ∀�� ∈ ����(2) 
���� �� 	� ��������
��	 �� ∈ (��
� − ����(1)) ��
� �� � ��� ���

��		�� �����
�� �� ������
 �	
�� ��� ���� ��������
��	� ��� ��
��	�
�

��	�����s�	� 
�� ��		�� �����
��� �� �	
��
��� � ���
���� ����� �����
��	� 
��	�
 ��

�������;

!�0������ �1# 9 ��
���� )���� 5�		�� !����
��:1 >����� � ���� � �	
 
�� ��
 ��

�� 
�� �������	
��� ��������
��	� �� �� )�
 ��
� �� 
�� ��
 �� ��� ��������
��	� �	 �� �	


�� 
�� ��
 �� ��� ������
� ��	
�
��	� 
��	�
 �� �� ��� ���
���� ����� ��		�� �����
��

�
 ����� �� � � 1� ��
��	� � ��
 �� ��������
��	�� ����(�)� ��	���
�	� �� 
�� ��������
��	� ��
∈ ��

� − ∪�−1
�=1���

�(�)� ���� 
��
� ∀ �� ∈ ����(�)� � �� ∈ ��
� − ∪�−1

�=1���
�(�) ��
� 9�� � ��:

∈ �� �

��� �������	�� ��	� �������
�
 ��
� ���� ��������
��	 
���	
� �	 
�� ��		�� �����


��
 
�� ��������
��	 ����	�� 
�� ��	�� ��������
��	� ��
�����
 ������� ��� �� ������ ��$

���
�	�� ��� 
�� ������ �	 ���
������� � ��������
��	 �� ∈ ����(�) �� �������
�
 ��
� �

�������	�� ��	� �A��� 
� 1 �� >� �	 
�� A��	
�
�
��� ��
��� � ������ �������	�� ��	�

�	
���
�� � ���� �����
�	
 ��������
��	�

>	� ��	v��
�	� ������
��� �����
 �� �������
 ����� 
� �����
�	� �������	�� ��	��� ��$


��� �� �	�����	� 
�� ����� �� �� ���	� ���� 
�����
 ��	v��
 ������
��	 �����
���� p����

�� ������ 
��
 
�� ������
��� ��
���	 ��������
��	� ������ � �
���
 ���
��� ��
��� �����$

����� 
� �	
 
�� ���
 �	
����
�	� ��������
��	� ����
 �	 �� � �� ����	�s� 
��� ���	� �


����
�
 ����� �	 ����� 	�
�� ��������	
 
� ��������
��	� �	
 �
��� 
� ������
� ��	
�$


��	�� ���	� �� ����� � 
���������� ���
 ������
�� �	 
��� ����� 
� �#
���
 
�� ���


���������� ��������
��	� �	 ������� +�� �#������ +����� -�0 
����
� 
�� ����� ��� � ��
 ��

������
� ��	
�
��	� �	
 
�� �#
���
�
 �������	�� ��	���
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�
��	 �#������

�������� ���	�����
 ���
� ���������� ����


�1 � �4

�2 � �4 �1� �2� �3� �

�2 � �5 �4� �5� �6� ���

�3 � �6 �7� ����

�5 � �7

�2 � �7

+����� -�0; �#
���
�	� �������	�� ��	���

&������s�	�� ��������
��	� ��� �����	
�
 ��
� �������	�� ��	�� �������
 ���	� ��
���


�� A��	
�
�
��� �� 
�� A����
�
��� ��������� > �������	�� ��	� �	
���
�� 
�� ����?� 
�����

�� �	
����
 ��� 
�� ��������	
�	� ��������
��	� ��� ������ 
�� �������	�� ��	�� 
�� ����

�����
�	
 
�� ���	
� ������
 �� 
�� ��������	
�	� ��������
��	�


�� ��������� ����� �����

)�
 �� �� 
�� ��
 �� �������	
��� ��������
��	� �� ���� �� 5� ��� 
���� �������	
���

��������
��	� 
� ��	� 
�� ��������
 ���	
� �	
 
������ 
� � �	�� 
�� ������
 ��	��
 �	���

5� 
��	� 
�� �
�: �� �	 ���	
 
� �� � ��	�
��	 F �� 
�� �������	�� ��	�� �� 
�� ����
��������
��	� 
��
 ����� �
;

!�0������ �1) 9���	
 2�	�:1 >����� �	 ���	
 �� � ���� � �	
 
�� ��
 �� �� 
��

����?� �������	
��� ��������
��	�� >����� ���
��� 
�� ��
 ��
	 = {(�1� 
�������

�
1 )� � � � �

(�
� 
�������
�

)}� ��

	 ⊆ ��� ��� ����� �� ������ �� 1 ≤ � ≤ �� ��� ���	
 ��	� �� �

��� � �� �A��� 
� ����(���) w F9
��������1 � � � � � 
��������
)� ����� F �� � ��	�
�	��
��	�
��	�

>	 ���	
 �1 �� ���� ���������� ��� ���� � 
� �	 ���	
 �2� �� �	
 �	�� ��� �
 ��� � ������

���	
 ��	� ��� � 
��	 �2�

>� 
�� �������
��	 ��	�
��	 F ��� �����
�	� 
�� ��	� �� �	 ���	
� �� ��� ��� 
��
��#����� ���	� ��	���� �� � �����
�
 ��� �� 
�� �������	�� ��	�� �� �
� ������	�

��������
��	�� +��
�������� �	�
��
 �� ���	� 
�� �������	�� ��	�� �� ��� ������	� ��������$


��	�� �� ��	 ��� �	�� 
���� �� 
�� 63�� �2���4� �	��� +�� �#������ ������ 
�� ���	


�� +����� -�-� �	
 
�� �������	
��� ��������
��	� ({����� w !����}� 0�9) �	
 ({����� w
!����� !���"�#� w �� $���#�}� 0�8) 9��� ���� �� �����	
�
��	� �� ���
 
�� 
��� �� ����

�

����
�:� '�
� ��������
��	� ����� 
�� ���	
� '�
���	 
�� 
��� 
�� ��

�� ��������
��	

�� ���� ������� 
��	 
�� ������ �	�� �	 
�� ��	�� 
��
 �	 
�� ��

�� ��������
��	 
�� ����
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����� �	 �

�
��	��� ���� ������� ��A������	
 
� ������� ����� �	
��
������ 
�� �������	��

��	� �� 
�� ��

�� ��������
��	 �����
 ����������� 
��
 �� 
�� ������ �	�� ���	���� �	

���	
 ��
���� ��
� �� 
���� +�������� � ��������
��	 � ∈ ��
	 �� � ���
 ������� �	� �� 	�

�
��� ��������
��	 �	 ��
	 �� ������
 �� �
� ��� ����� ����
��	 ��
���	 
�� ��������
��	�

�� 
��	�
 �� �������;

!�0������ �1* 91���� '�
���	 &�������
��	�:1 ����	 
�� ��������
��	� �� �	
 ��� ��
������ ��� �� �	
 �	�� ��� ��� ���� ���	
 � ���� 
��
 �� ������ �� �� ������ ��

�	 ��	����� �����
�	� ��	�� ��� �	������ 
�� ������#�
� �� 
�� ������� �� ��
��$

�	� ���	
� ��
� ��������
��	�� �	 
��
�
��	�� �������.��������� ���
���� ��� ��
���	� 
�

�� ������
�
 ������������� �
 ��Æ��� 
� �	
 "��
 �	� ��������
��	 
��
 ������ 
�� ���	
�

������� ��� �����
�	� 
�� ��	� �� �	 ���	
� �� ��� 	��
 
� ����
� ��� ������	� ��������$


��	��

=



���*��� /

����	� -�
�����

/�, 1�	
�	���� ����	� ������

/�- �����
�� ����	� ������

/�/ &��
�	� 5�	
�� ����	� ������

/�6 ���	
 ��������

p���	� 
��	�
 ���	
 ��	��� ��� ���� �� 
� ��	
 	�
����
��	� �	�� ��� 
�� 
��$� ���	
� 
�

���� ����� ���� 
�� ���	
� ��
� 
�� � ������
 ��	��� &�	�� ���	
� ��� ��	
�	������ ��������


�	
 ��
���
 ��
� ��������
��	�� �� 	��
 
� ������� 
�� 
���	� �����
 ���� ����� 
�� 
��$�

���	
� ��� �����
�
� �	 
��� ����
��� �� �#���	� 
�� ������� 
���	� �������� 
��
 ��	 ��

������
 
� � �������.��������� ���
��� ��	�� 
�B���	
 
���	� �������� ��	 �B��
 ���
���

�	 ���	
 ����	�� 
� � ����?� 
��$� �����
� �� 	�
� �	 ���
������� �� �#���	� 
�� �������	�


���	� ��������; 9�: �3�����3��� �	 ����� ���	
� ��� ������
�
 
� �	
����
�
 ����������� �



�� 
��� �� 
���� �������
��	� 9��: 2���35��� �	 ����� ���	
� ��� ������
�
 �
 ���
��	�



��� �	
������ �	
 9���: �
�5��; 	��53	� ����� �����	�� 
�� �������� ���������

��� ���������� 	����� ����� 

�	 
�� ��	
�	���� 
���	� ������� � 	���� ��������
 ���	
 �� 
�������
 
� � ����� �� �	
 �	��

��� �
 ��
���� �	� �� 
�� ����?� ��������
��	� �	
 
�� ���� ��� 	�
 �����
� �������
 � ���	
�

��
� ������ ��	�� 
��	 
�� 	�� �	�?�� &�	�� 	�� ���	
� ��� ��	�
�	
�� ���
���
� �
 ��

�������� ��� ���� ��
 ��
 ������ ���������� ���	
� 
� �����	
 �	� 	�� �	�� ���� ������	�


�� ����� +�� �	�
�	��� ��	��
�� 
�� �#����� �	 +����� /�,� +�� ��������
�� �� ������ �

��	��� ����� ��� <��	� ��� ��� 
��	�
 � 	����� �� �������	
��� ��������
��	� ��� �������

>����� 
��
 � ����� 
���
�� ��������� 
�� ���	
� �1� �2� � � � � �6 �	 
��
 ��
��� �
 
�� 
���

����	 �	 
�� ���
 �� ���� ���	
� �	
 
��
 <��	 �� �	
����
�
 �	 
�� 
��$- �����
�� >�����
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+����� /�,; 1�	
�	���� 9	� �#����
��	:; 
��$2 ���	
� ��� <��	 �
 --;00�

���
��� 
��
 �� �	 �������
��	 ��	�
��	 F �� ��� 
�� ��#���� ����� �� 
�� �������	��
��	�� �� 
�� ������	� ��������
��	�� ���� F = max� �1 �	
 �2 ���� �� 
�������
 
� <��	�

��	�� 
��� ��� 
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� �	 *�

!�0������ �1� 9)��
 �������
�:1 ����	 � ���
 ��� ���	
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�� � � �� ��� ���� �� 
� ���
��� � ���
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���(�1� �) ���(�2� �) ���(�3� �) ���(�4� �) ���(�5� �) ���(�5� �) � = ∅
� � � � � � � = (�1)
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�� 
���	
��	� = 0!
�� !�� � |�| � � 	�

!� ��� �  ������ �� ∈ � 	�
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��	 �� �� �������
�
 ��
� 
�� ���� 9�� 
�������
�
� :�

�� �	
 �	�� ��� � �������	
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 � �� � ��
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